Practice Date: Section:

Name:

Write all probability answer in percentage with 2 decimal places (example, 23.54%)

A. John is taking a True/False questions tests and there are 20 questions. He knows that he has answered 13
correctly and for the rest he wants to guess the answers. If getting a “C’ means answering 14 or 15 correctly and
getting a “B’ means answering 16 or 17 correctly and getting an “A’ means answering at least 18 correctly then use

binomial probability and answer the followings

1. Find the probability that he gets a “C” 1)
A) 18.52% B) 17.65% C) 16.42% D) 21.88%

2. Find the probability that he gets a “B” 2)
A) 56.48% B) 54.68% C) 52.34% D) 56.84%

3. Find the probability that he gets an “A” 3)
A) 24.56% B) 19.23% C) 22.66% D) 20.56%

B. John is taking a multiple choice questions there are 20 questions and four choices for each one. He knows that
he has answered 13 correctly and for the rest he wants to guess the answers. If getting a “C’ means answering 14 or
15 correctly and getting a “B’ means answering 16 or 17 correctly and getting an “A’ means answering at least 18
correctly then use binomial probability and answer the followings

4. Find the probability that he gets a “C” 4)
A) 24.56% B) 19.23% C) 62.30% D) 58.45%

5. Find the probability that he gets a “B” 5)
A) 38.23% B) 25.17% C) 38.12% D) 23.07%

6. Find the probability that he gets an “A” 6)

A) 1.29% B) 3.24% C) 4.09% D) 2.09%



Binomial Probability

A multiple choice test contains 20 questions. Each question has four or five choices for the correct answer. Only
one of the choices is correct. With random guessing, does this test have a binomial probability distribution?

1. A dieis tossed 3 times. What is the probability of

(a) No fives turning up? (b) 1 five? (c) 3 fives?

2. Hospital records show that of patients suffering from a certain disease, 75% die of it. What is the probability that
of 6 randomly selected patients, 4 will recover?

3. In the old days, there was a probability of 0.8 of success in any attempt to make a telephone call.

Calculate the probability of having 7 successes in 10 attempts

4. A (blindfolded) marksman finds that on the average he hits the target 4 times out of 5. If he fires 4 shots, what is
the probability of

(a) more than 2 hits? (b) at least 3 misses?

5. A multiple choice test contains 20 questions. Each question has five choices for the correct answer. Only one of
the choices is correct. What is the probability of making an 80 with random guessing?

6) A study indicates that 4% of American teenagers have tattoos. You randomly sample 30 teenagers. What is the
likelihood that exactly 3 will have a tattoo?

7. A manufacturer of metal pistons finds that on the average, 12% of his pistons are rejected because they are either
oversize or undersize. What is the probability that a batch of 10 pistons will contain

a) no more than 2 rejects? b) at least 2 rejects?

8. Suppose a die is tossed 5 times. What is the probability of getting exactly 2 fours?

9. Find the mean for the number of sixes that appear when rolling 30 dice.



10. Knowing that about 12% of people are left handed,
a) find the probability of having five left-handed students in a class of twenty five.

b) How many are expected to be left handed?

11. Find the mean for the number of corrected answers on a 20 multiple choice questions (5 choices), if all answers
were guessed.

12) A company owns 400 laptops. Each laptop has an 8% probability of not working. You randomly select 20
laptops for your salespeople.

(a) What is the likelihood that 5 will be broken? (b) What is the likelihood that they will all work?
(c) What is the likelihood that they will all be broken?

13) An XYZ cell phone is made from 55 components. Each component has a .002 probability of being defective.
What is the probability that an XYZ cell phone will not work perfectly?

14) The ABC Company manufactures toy robots. About 1 toy robot per 100 does not work. You purchase 35
ABC toy robots. What is the probability that exactly 4 do not work?

15) The LMB Company manufactures tires. They claim that only .007 of LMB tires are defective. What is the
probability of finding 2 defective tires in a random sample of 50 LMB tires?

16) An HDTV is made from 100 components. Each component has a .005 probability of being defective. What is
the probability that an HDTV will not work perfectly?

17. The ratio of boys to girls at birth in Singapore is quite high at 1.09:1.

What proportion of Singapore families with exactly 6 children will have at least 3 boys? (Ignore the probability of
multiple births.)

[Interesting and disturbing trivia: In most countries the ratio of boys to girls is about 1.04:1, but in China it is
1.15:1.





